UIL  ACCOUNTING

Invitational A-967B (Spring 1997)
Group 1

Determine whether each of the following is a debit or credit using this code:  DR=debit; CR=credit.  Mark the correct answer on your answer sheet.

  1. The balance side of Transportation In

  2. The increase side of Sales Returns & Allowances

  3. The decrease side of Accounts Payable

  4. The balance side of Purchases Discounts

  5. The decrease side of Barry Wilson, Capital

  6. The increase side of Merchandise Inventory

  7. The increase side of Sales Taxes Payable

  8. The balance side of Sales

  9. The decrease side of Prepaid Insurance

10.  The increase side of Petty Cash

Group 2

For the statements in items 11 through 23, determine whether each is true or false using this code:  T=true  F=false   Mark the correct answer on your answer sheet.

11.  A business keeps a record of the sales tax owed to the state in the liability account

 Sales Tax Payable.

12. Sales is the account used to record merchandise sold during the fiscal period.

13.  When a business purchases merchandise, the account debited is Merchandise

 Inventory.

14.  The unit price is the cost of a single item or of the smallest quantity in which an item

 can be bought.

15.  The balance of a contra account increases the balance in another account.

16.  Whenever a business purchases items on account, the purchase results in either a

 debit to the Purchases account or a debit to a general ledger account.

17.  A general journal is needed in an accounting system using special journals to

 record those transactions that cannot be recorded in the special journals.

18.  A cash discount is an advantage to the buyer but not to the seller.

19.  A business handles bank card sales like cash sales because it receives cash from

 the bank within several days after depositing its bank card slips.

20.  One example of a good internal control requires that all cash payments be

 authorized.

21.  A business may allow its customers to return unsatisfactory merchandise for full

 credit or to keep the merchandise at a lesser price.

22.  The cash payments journal is used to record all transactions that increase the Cash

 in Bank account.

23.  The Purchases account is debited whenever merchandise to be resold to

      customers is bought.
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Group 3

Use the following data for questions 24 through 28.  Following are all the accounts (except capital) of the Everett Co. as of the end of the fiscal year after adjustments.  All accounts have normal balances.  Everett made one owner investment during the year of $8,000.  Mark the identifying letter of the best response on your answer sheet.

	Account  Title
	Amount
	
	Account Title
	Amount

	Accounts Receivable
	     4,200
	
	Cash
	    8,780

	Supplies
	     1,860
	
	Salary Expense
	    4,500

	Rent Expense
	     1,200
	
	Revenue
	  12,850

	Advertising Expense
	        580
	
	A. Everett, Drawing
	  10,730

	Accounts Payable
	        600
	
	Supplies Expense
	    1,600


24.  What is the balance in the capital account at the end of the fiscal year before closing entries are posted?

A.  zero     B. $8,000     C. $12,000     D. $20,000     E. $28,000

25.  What was the balance in the capital account at the beginning of the fiscal year?

A.  zero     B. $8,000     C. $12,000     D. $20,000     E. $28,000

26.  What was the net income or loss for the year?

A.  $3,110 net loss


C. $4,970 net loss


E. $12,850 net loss

B.  $3,110 net income

D. $4,970 net income

F. $12,850 net income

27.  What was the capital account balance at the end of the fiscal year after closing entries?

A.  $ 2,240     B. $6,240     C. $14,240     D. $15,030     E. $25,760

28. What is the amount of total assets?

A.  $12,980     B. $14,840     C. $14,580     D. $22,720     E. $33,450

Group 4

Determine when each of the following items would be journalized with the salary expense entry, or the payroll tax expense entry, or both.  Write the correct identifying letter on your answer sheet using the following code:

A. with the salary expense entry

B. with the payroll tax expense entry

     C. with both the salary expense entry and the payroll tax expense entry

29.  employees’ federal income taxes

30.  net pay for the period

31.  state unemployment taxes

32.  FICA taxes

33.  hospital insurance premiums paid by employees

34.  federal unemployment taxes
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Group 5

The partially completed income statements for Rugsford Company for 1995 and 1996 follow.  Determine the missing amounts in items 35 through 42 and write the correct amount on your answer sheet.

	
	1995
	1996

	Revenues
	     60,470
	      71,860

	Beginning Inventory
	        #35
	         #38

	Purchases
	     34,365
	      37,600

	Transportation In
	       1,270
	        1,580

	Purchases Discounts
	          820
	         #39

	Purchases Returns & Allowances
	          755
	           540

	Net Purchases
	        #36
	         #40

	Cost of Merchandise Available for Sale
	        #37
	         #41

	Ending Inventory
	      10,200
	        9,800

	Cost of Merchandise Sold
	      33,260
	         #42

	Gross Profit
	      27,210
	       33,775

	Other Expenses
	      14,300
	       18,240

	Net Income
	      12,910
	       15,535


Group 6

Match the appropriate term (letters A through M) with the items in 43 through 51.  Write the correct identifying letter of the best response on your answer sheet.

A.  bank statement




H. postdated check

B.  blank endorsement



 I. petty cash

C.  checking account




J. petty cash slip

D.  dishonored check



K. refused check

E.  electronic funds transfer


L. restrictive endorsement

F.  endorsement





M. special endorsement

G.  laser transfer

43.  A bank account from which payments can be ordered by a depositor

44.  An endorsement consisting only of the endorser’s signature

45.  An endorsement indicating a new owner of a check

46.  A check with a future date on it

47.  An itemized record of all the transactions occurring in a depositor’s account over a given period, usually a month

48.  A check that a bank refuses to pay

49.  The general term for a signature or stamp on the back of a check transferring ownership

50.  Limits how a check may be handled and protects checks from being cashed by anyone except the payee

51.  A computerized cash payments system that uses electronic impulses to transfer funds
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Group 7

For the multiple choice questions in this group, mark the identifying letter of the best response on your answer sheet.

52.  At the beginning of the year, Applecore Company’s assets were $240,000 and its owner’s equity was $200,000.  During the year, assets decreased $50,000 and liabilities increased $10,000.  What was the owner’s equity at the end of the year?

A.  $140,000     B. $150,000     C. $160,000     D. $180,000

53.  An independent error that a trial balance will disclose includes

A.  entering a transaction twice

B.  entering a credit as a debit

C.  entering an amount in the wrong account

D.  omitting a transaction

54.  The logical order of the accounting information process is

A.  journal entries, transaction analysis, posting to ledger, prepare trial balance, prepare financial statements

B.  transaction analysis, post to ledger, make journal entries, prepare trial balance, 

prepare financial statements

C.  prepare financial statements, analyze transactions, make journal entries, post to ledger, prepare trial balance

D.  transaction analysis, make journal entries, post to ledger, prepare trial balance, prepare financial statements

55.  Which of the following is a temporary account?

A.  Prepaid Insurance



C. Service Revenue

B.  Merchandise Inventory


D. Accounts Payable

56.  When cash is paid to the owner for personal use

A.  assets decrease; capital decreases

B.  assets increase; capital decreases

C.  liabilities increase; capital decreases

D.  assets decrease; expenses increase

57.  Which of the following transactions results in an increase in revenue?

A.  sale of office equipment for cash

B.  performance of a service on credit

C.  collection of cash on account

D.  receipt of cash from a debtor

E.  an investment by the owner

58.  Of the following accounts, which would not be included in a balance sheet?

A.  Cash





D. Sales

B.  Davis, Capital



E. none of these

C.  Accounts Payable
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59.  Expense accounts:

A.  eventually increase the balance in the owner’s capital account

B.  usually have credit balances

C.  show the costs associated with producing revenue during an accounting period

D.  do all of the above (A, B, and C)

E.  are reported on the balance sheet

60.  Revenues and assets are two examples of nominal accounts.

A.  This is a true statement.

B.  This is a false statement.

61.  The balance of a nominal account may extend past the end of an accounting year.

A.  This is a true statement.

B.  This is a false statement.

62.  The length of time for which an analysis of business operations is made is called the fiscal period.

A.  This is a true statement.

B.  This is a false statement.

63.  Pecos Company established a petty cash fund of $500.  The proper journal entry to reflect this event would be





DEBIT






CREDIT

A.

       Cash


     
     

     Petty Cash


B.            Petty Cash


         

   Cash


C. 
Miscellaneous Expense             

   Cash


D.                Cash




Miscellaneous Expense

E.  none of these

64.  The entry to increase the size of the petty cash fund includes a debit to

A.  Cash

B.  Miscellaneous Expense

C.  Petty Cash

65.  The entry to replenish the petty cash fund includes a credit to

A.  Accounts Payable

B.  Cash

C.  Petty Cash
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Group 8

Refer to the data in Table 1 on page 8 and the work sheet on page 9.  You may remove the pages from the staple for convenience.  The work sheet will not be reviewed by the graders or contest director.   For questions 66 through 80, write the identifying letter of the best response on your answer sheet.

66.  The merchandise inventory on January 1, 1996 was

A.  $9,305     B. $22,470     C. $31,775     D. $79,599

67.  The total debits of the trial balance prepared after posting the regular transactions to the general ledger is

A.  $176,470     B. $185,775     C. $198,940     D. $208,245

68.  The capital account balance on January 1, 1996 was

A.  $44,057     B. $51,557     C. $59,057     D. $61,654

69.  The amount of the supplies adjustment is

A.  $980     B. $2,884     C. $3,864     D. $4,844

70.  Failure to adjust the supplies account will result in

A.  an understatement of assets

B.  an understatement of owner’s equity

C.  an overstatement of owner’s equity

D.  an understatement of liabilities

71.  On the line for Supplies Expense on the work sheet, the amount extended to the income statement debit column represents the value of supplies

A.  bought during the fiscal period

B.  available during the fiscal period

C.  used during the fiscal period

D.  on hand at the end of the fiscal period

72.  If the general ledger showed a January 1, 1996 debit balance of $3,748 in the Supplies account, this would mean that

A.  the trial balance is out of balance

B.  the adjustment amount should be $2,768

C.  supplies of $116 were bought during the year

D.  both A and B are correct

73.  On the line for Prepaid Insurance on the work sheet, the amount in the trial balance debit column represents the value of insurance premiums

A.  at the beginning of the fiscal period plus premiums paid during the fiscal period

B.  paid during the fiscal period

C.  expired during the fiscal period

D.  still in force at the end of the fiscal period
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74.  The balance in the Insurance Expense account after adjustment is

A.  zero     B. $395     C. $980     D. $1,180     E. $1,575

75.  The adjustment for Insurance Expense would include a

A.  debit to Prepaid Insurance for $395

B.  credit to Prepaid Insurance for $1,180

C.  debit to Insurance Expense for $395

D.  debit to Insurance Expense for $1,970

76.  On the line for Prepaid Insurance on the work sheet, the amount in the adjusted trial balance debit column represents the value of insurance premiums

A.  prepaid at the beginning of the fiscal period

B.  prepaid during the fiscal period

C.  expired during the fiscal period

D.  prepaid at the end of the fiscal period

77.  Regarding the adjustment for merchandise inventory, which of the following statements is incorrect?

A.  The adjusting entry includes a debit of $9,305 to Merchandise Inventory.

B.  The amount in the adjusted trial balance debit column for Merchandise Inventory represents the amount of inventory on hand on December 31, 1996.

C.  The actual ending inventory amount caused gross profit to be lower than it would have been if ending inventory had been the same as beginning inventory.

D.  The calculation of the cost of merchandise available for sale is not affected by the ending inventory.

78.  The total of the balance sheet debit column before net income or loss has been calculated is

A. $63,742     B. $68,598     C. $73,839     D. $74,624

79.  The total of the income statement debit column before net income or loss has been calculated is

A.  $73,839     B. $130,342     C. $134,406     D. $144,503

80.  The net income or loss is

A.  net loss $10,097   


C. net loss $12,786

B.  net income $10,097

D. net income $12,786

THIS IS THE END OF THE EXAM.  PLEASE KEEP YOUR ANSWER SHEET AND EXAM QUESTIONS UNTIL THE CONTEST DIRECTOR CALLS FOR THEM.  THANK YOU!
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TABLE  1

(for questions 66 through 80)

The normal balances of the general ledger accounts of Maxwell Company as of December 31, 1996 after all regular operating transactions have been recorded are listed below.  Other information is listed including data needed for the end-of-year adjustments.  The company makes adjusting and closing entries only at year-end.

	Account Title
	Amount
	
	Account Title
	Amount

	Cash in Bank
	  10,785
	
	Sales Returns & Allow.
	     1,312

	Accounts Receivable
	    1,344
	
	Purchases
	   88,777

	Merchandise Inventory
	      ??
	
	Purchases Returns & Allow.
	        278

	Supplies
	    3,864 
	
	Purchases Discounts
	        940

	Prepaid Insurance
	    1,575
	
	Transportation In
	     1,345

	Store Equipment
	  12,810
	
	Advertising Expense
	     2,000

	Accounts Payable
	    9,723
	
	Miscellaneous Expense
	        472

	FICA Payable
	    1,470
	
	Rent Expense
	   10,080

	Sales Tax Payable
	       992
	
	Utilities Expense
	     2,080

	Betty Maxwell, Capital
	  51,557
	
	Salary Expense
	   21,840

	Betty Maxwell, Drawing
	  15,750
	
	Payroll Tax Expense
	     2,436

	Sales
	133,980
	
	
	


Additional Data:

· The owner made an additional investment of $7,500 during the year.

· Merchandise Inventory on December 31, 1996 is $31,775.

· Supplies on hand on December 31, 1996 is $980.

· Insurance premiums of coverage still in force on December 31, 1996 is $395.

